


DRIVE CLUTCH

ITEM PART NO. DESCRIPTION QTY
123 4
1 101833902 Clutch, Drive (includes items 2 through 28) ......... 1
2 1014049 Bearing, Idler 1
3 1014050 Retainer, Spring 1
4 1014051 Spring, Drive Clutch 1
5 1014052 Movable-Face Assembly (includes items 6 through 8) 1
6 N/A Drive Clutch Movable Face 1
7 1014055 Retainer 1
8 N/A Bushing, Split, Drive Clutch 1
9 1014056 Ring, Spiral Backup 2
10 1014057 Ring, 0.810" Internal Retaining 1
11 1014058 Thrust Washer 1
12 1014059 Drive Hub Assy, Drive Clutch 1
13 1014453 Kit, Drive Clutch Button (includes items 14 through 17) 1
14 1014062 Driver, Drive Clutch 3
15 1014287 Spring, Drive Button 3
16 183 WaASher, #10 TYPE A FIAt .eeereerneeseeisseeseiisesssssssssssasssssssssssssssssssssssssssssssssssssssssssssssssssssssss 3
17 8450 Screw, #10-24 X 0.50 Hex-Head 3
18 1016289 Spacer, Fixed Face Shaft 1
19 1016801 Kit, Drive Clutch Weight (includes items 20 through 26) 1
20 1014063 Screw, 1/4-20 X 1.00 Hex Head 6
21 N/A Pin, 0.3752 X 1.50 Dowel 3
22 1014065 Washer, 0.38" ID Delrin Flat 6
23 N/A Clutch Weight, SECONAIY ......ovveeveereeeeesseiseeseeesseeenseenseessessasees 3
24 N/A WaSHhEr s 6
25 1016201 Washer, Wave 3
26 N/A Weight, Primary 3
27 101925601 Plug, Drive Clutch 3
28 101929802 Kit, Fxd Face Dr Asm Fe290/350 (includes items 29 and 30) 1
29 N/A Desiccant Bag (NOt SNOWN) w.uvrvreenrenrerreenssesssessssssssssssssssssssssssssssssssssssseses 1
30 101929801 Assembly, Fixed-Face Drive (includes items 31 through 33) 1
31 N/A Fixed Face Assembly, Drive Clutch 1
32 1014288 Screw, 5/16-18 X 0.75 Thread-Forming 3
33 N/A PUNIEY, CHULCR oot ssss s sssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssassen 1
34 101916701 V-Belt 1
35 103345701 Screw 3/8-24x5.5 Hex Loc Ptch 1
36 808 Washer, 3/8 Type B Flat 1
Note: Item 29 not shown.

2009-2011 DS Golf Cars lllustrated Parts List Page 10-3



